INR—TY = e =T 4 THASH

AP R HmoBHMHHE
PR R AT D 350D o
2021445 4y =17
e it
B
PR o Bl (N BL)
4 Bl B AT AT s
202 145 47 4y (2B 10%) | 2021483 1 45 (2 Bl 10%) BATHfiL O
o E -197¢% -2228% 254%
Rl e -1918% -2168% 258%

(T%%E . FEE BRI R RO F)
20214E4 H 45 OBk EHE L AT 2202045 11 H ~20214E1 H O BREMIR Ic L0 R HEN £,
SER RIS

2020411 H ~20214-1 H JERHA R 1k1dH 720 17,600  (A)
(100 F it PU 5. N)
X 4 B T W IR AL Rl
SERE TR A RS 1kl 7=V 29,898 0.1543 4,613
SERTHAL KR A iR 1t &»7=H 40,0661 0.1322 5,297
SEY A ERATES 1t Hi=h 7,923 0.9761 7,734
AYEREHIRE RO R
FLYEPREHAS (B) FEVEHLT (C)
= J+ 23.40%%
26,000 Rl )1 22.708%

BRI R S B YERRBHMT#526,000 % LBl > 7= 55

IR | = CTSSRREHITHS ()-SR R (3)) X 2 A (C)

SOEBREMIIAS (A) £339,000 1 28k x 7255 513:39,000 ] % _E RS L E9,
B OEERRRHI R 2 L HE PR B4 26,000 2 T Bl o 72356

PRI AT | = (LA (B) - TARREHIf (A)) x 2L ()

B AREFEEMOBEAMIT., 1821, 20X, /MR TSN THURIALET,




